Plaintiffs' Exhibit

6
Civ. No. 21-00997 (CJN)

Charles H. v. District of Columbia Civ. No. 21-997 (CJN)

Terris, Pravlik & Millian, LLP Computerized Expense Records July 15, 2020 - December 31, 2022

No.	Date	Category	Subcategory	Name	Description	Quantity	Price	Expense
Client:	IYP IDEA	1						
1	8/6/2020 I	Document Produ	ction B&W	PAS	Outstanding Questions in Potential case	3.00	\$0.15	\$0.45
2	8/7/2020 I	Document Produ	ction B&W	PAS	Memo on Potential case	8.00	\$0.15	\$1.20
3	8/7/2020 I	Document Produ	ction B&W	TAG	Memo on Potential case	8.00	\$0.15	\$1.20
4	8/10/2020 I	Document Produ	ction B&W	PAS	Microsoft Word - Lack-of-FAPE-ltr-to-OSSE-DCPS-DYRS-Final-5-20-20-1.doc	6.00	\$0.15	\$0.90
5	8/10/2020 I	Document Produ	ction B&W	PAS	Handberry v Thompson	18.00	\$0.15	\$2.70
6	8/12/2020 I	Document Produ	ction B&W	PAS	Microsoft Word - 2020.8.12 - Demand Letter re YSC DC Jail - Draft 2.docx	4.00	\$0.15	\$0.60
7	8/14/2020 I	Document Produ	ction B&W	PAS	Draft WLC Letter to DCPS and OSSE re YSC/IYP IDEA	6.00	\$0.15	\$0.90
8	8/18/2020 I	Document Produ	ction B&W	PAS	Draft Letter to DCPS and OSSE re YSC/IYP IDEA	6.00	\$0.15	\$0.90
9	8/19/2020 I	Document Produ	ction B&W	PAS	Draft Memo on Evidence Needed in Potential YSC/IYP IDEA case	4.00	\$0.15	\$0.60
10	8/20/2020 I	Document Produ	ction B&W	TAG	8.20.20 Draft Letter to DCPS and OSSE re YSC/IYP IDEA	5.00	\$0.15	\$0.75
11	8/20/2020 I	Document Produ	ction B&W	TAG	Draft Memo on Evidence Needed in Potential YSC/IYP IDEA case	4.00	\$0.15	\$0.60
12	9/1/2020 I	Document Produ	ction B&W	PAS	CONFIDENTIAL 2020.8.31 - Letter from Ferebee re YSC- IYP	3.00	\$0.15	\$0.45
13	9/15/2020 I	Document Produ	ction B&W	KLM	Microsoft Word - Draft Due Process Complaint for Individuals - TPM Edits (00172865-2xC4E0D).doc	16.00	\$0.15	\$2.40
14	9/17/2020 I	Document Produ	ction B&W	KLM	SJP Draft YSC IYP Due Process Complaint with WLC	21.00	\$0.15	\$3.15
15	11/17/2020 I	Document Produ	ction B&W	TAG	Microsoft Word - School Justice Project Report 1 November 17 2020.docx	9.00	\$0.15	\$1.35
16	12/3/2020 I	Document Produ	ction B&W	TAG	Microsoft Word - 12.1.20 DRAFT FOIA for IYP.docx	2.00	\$0.15	\$0.30
17	12/3/2020 I	Document Produ	ction B&W	TAG	Microsoft Word - 12.1.20 DRAFT FOIA for IYP.docx	2.00	\$0.15	\$0.30

Client: IYP IDEA

Case 1:21-cv-00997-CJN Document 201-8 Filed 10/19/23 Page 2 of 21

No.	Date	Category	Subcategory	Name	Description	Quantity	Price	Expense
18	12/3/2020	Document Produ	ction B&W	TAG	Microsoft Word - 12.1.20 DRAFT FOIA for OSSE.docx	2.00	\$0.15	\$0.30
19	12/10/2020	Document Produ	ction B&W	TAG	85-002_Memorandum in Support	40.00	\$0.15	\$6.00
20	12/10/2020	Document Produ	ction B&W	TAG	80-000_Plaintiffs' Renewed Motion for Class Certification	28.00	\$0.15	\$4.20
21	12/10/2020	Document Produ	ction B&W	TAG	_DPCMtnExpedite_101620	22.00	\$0.15	\$3.30
22	12/10/2020	Document Produ	ction B&W	TAG	271-2_Mem in Support Mem of Law in Support of Mot to Recertify Class	44.00	\$0.15	\$6.60
23	12/11/2020	Document Produ	ction B&W	TAG	TAG Memo re Next Steps for IYP	3.00	\$0.15	\$0.45
24	12/14/2020	Document Produ	ction B&W	PAS	CGB v Wolf	53.00	\$0.15	\$7.95
25	12/14/2020	Document Produ	ction B&W	TAG	TAG Memo re Next Steps for IYP	3.00	\$0.15	\$0.45
26	12/14/2020	Document Produ	ction B&W	PAS	PJES by and through Escobar Francisco v Wolf	62.00	\$0.15	\$9.30
27	12/14/2020	Document Produ	ction B&W	PAS	Hurry v Federal Deposit Insurance Corporation	9.00	\$0.15	\$1.35
28	12/14/2020	Document Produ	ction B&W	PAS	FRANKLIN SALVADOR SR and FRANKLIN SALVADOR JR Plaintiffs v ALLSTATE PROPERTY AND	8.00	\$0.15	\$1.20
29	12/14/2020	Document Produ	ction B&W	PAS	NS individually and on behalf of all others similarly situated Plaintiffs v MICH	21.00	\$0.15	\$3.15
30	12/14/2020	Document Produ	ction B&W	PAS	JD v Azar	75.00	\$0.15	\$11.25
31	12/14/2020	Document Produ	ction B&W	PAS	80-000_Plaintiffs' Renewed Motion for Class Certification	28.00	\$0.15	\$4.20
32	12/14/2020	Document Produ	ction B&W	PAS	TAG Memo re Next Steps for IYP	3.00	\$0.15	\$0.45
33	12/23/2020	Document Produ	ction B&W	TAG	Educational Technology in Correction 2015	40.00	\$0.15	\$6.00
34	1/11/2021	Document Produ	ction B&W	PAS	Hernandez decision (00175254-2xC4E0D)	115.00	\$0.15	\$17.25
35	1/12/2021	Document Produ	ction B&W	PAS	Danielle Howard Martinez et al v Gavin Newsom et al	12.00	\$0.15	\$1.80
36	1/12/2021	Document Produ	ction B&W	TAG	- Case No. 2020-0184	30.00	\$0.15	\$4.50
37	1/13/2021	Document Produ	ction B&W	PAS	- Case No. 2020-0184	30.00	\$0.15	\$4.50
38	1/14/2021	Document Produ	ction B&W	TAG	1 complaint 7-21-05	14.00	\$0.15	\$2.10
39	1/14/2021	Document Produ	ction B&W	TAG	53 mem opinion denying mot to dismiss IDEA 8-25-06	14.00	\$0.15	\$2.10

Client: IYP IDEA

Case 1:21-cv-00997-CJN Document 201-8 Filed 10/19/23 Page 3 of 21

No.	Date	Category	Subcategory	Name	Description	Quantity	Price	Expense
40	1/19/2021 D	Document Produc	tion B&W	TAG	Request.pdf	4.00	\$0.15	\$0.60
41	2/26/2021 D	Document Produc	tion B&W	TAG	2021-02-23 - IYP IDEA - Research re proper defendant	18.00	\$0.15	\$2.70
42	2/26/2021 D	Document Produc	tion B&W	TAG	Legal Memo re defendants	2.00	\$0.15	\$0.30
43	3/23/2021 D	Document Produc	tion B&W	TAG	DL v District of Columbia	15.00	\$0.15	\$2.25
44	4/7/2021 D	Document Produc	tion B&W	TAG	Alston v District of Columbia	19.00	\$0.15	\$2.85
45	4/7/2021 D	Document Produc	tion B&W	TAG	BR ex rel Rempson v District of Columbia	8.00	\$0.15	\$1.20
46	4/7/2021 D	Document Produc	tion B&W	TAG	Reid-Witt on behalf of CW v District of Columbia (003)	14.00	\$0.15	\$2.10
47	4/7/2021 D	Document Produc	tion B&W	TAG	BR ex rel Rempson v District of Columbia (002)	8.00	\$0.15	\$1.20
48	4/7/2021 D	Document Produc	tion B&W	TAG	Walker v District of Columbia	28.00	\$0.15	\$4.20
49	4/7/2021 D	Document Produc	tion B&W	TAG	Torrence v District of Columbia	6.00	\$0.15	\$0.90
50	4/7/2021 D	Document Produc	tion B&W	TAG	AU v District of Columbia	26.00	\$0.15	\$3.90
51	4/7/2021 D	Document Produc	tion B&W	TAG	Mark H v Lemahieu	21.00	\$0.15	\$3.15
52	4/8/2021 D	Document Produc	tion B&W	TAG	Draft Pl Prelim Injunction Brief	52.00	\$0.15	\$7.80
53	4/8/2021 D	Document Produc	tion B&W	TAG	Draft Brief re Plaintiffs Motion for Class Certification	39.00	\$0.15	\$5.85
54	4/8/2021 D	Document Produc	tion B&W	TAG	Draft Class Action Complaint for Declaratory	54.00	\$0.15	\$8.10
55	4/8/2021 D	Document Produc	tion B&W	TAG	Draft Pl Prelim Injunction Brief	52.00	\$0.15	\$7.80
56	4/9/2021 D	Document Produc	tion B&W	LLW	Pl. Ex. 5 2020-21 School Year Annual Enrollment Audit Supplemental Tables	1.00	\$0.15	\$0.15
57	5/12/2021 D	Document Produc	tion B&W	TAG	District's opp	29.00	\$0.15	\$4.35
58	5/27/2021 D	Document Produc	tion B&W	TAG	12_002 Proposed Order re Preliminary Injunction	2.00	\$0.15	\$0.30
59	5/27/2021 D	Document Produc	tion B&W	TAG	12_001 Pl. Memo in Support of Preliminary Injunction	56.00	\$0.15	\$8.40
60	5/27/2021 D	Document Produc	tion B&W	TAG	Pl Reply Brief in Support of Motion forliminary Injunction (00178596-20).DOCX	32.00	\$0.15	\$4.80
61	7/18/2021 D	Document Produc	tion B&W	KLM	Draft Pl Opp to Motion to Dismiss	31.00	\$0.15	\$4.65

Client: IYP IDEA

Case 1:21-cv-00997-CJN Document 201-8 Filed 10/19/23 Page 4 of 21

No.	Date	Category	Subcategory	Name	Description	Quantity	Price	Expense
62	7/21/2021	Document Produc	ction B&W	KLM	Draft Pl. Opp. to MTD	43.00	\$0.15	\$6.45
63	7/21/2021	Document Produc	ction B&W	KLM	Draft Pl. Motion for Leave to File 2d Amended Complaint	12.00	\$0.15	\$1.80
64	8/18/2021	Document Produc	ction B&W	TAG	58-002_ (Filed Under Seal) Exhibit A. Unredacted Brief (00182579xC4E0D)	28.00	\$0.15	\$4.20
65	8/26/2021	Document Produc	ction B&W	KLM	Draft class cert reply	38.00	\$0.15	\$5.70
66	8/27/2021	Document Produc	ction B&W	KLM	Draft class cert reply	34.00	\$0.15	\$5.10
67	9/7/2021	Document Produc	ction B&W	KLM	Plaintiffs Opp to 2d Partial Dismiss Mot	51.00	\$0.15	\$7.65
68	10/7/2021	Document Produc	ction B&W	DMF	Memorandum Opinion for the Order Granding PI	27.00	\$0.15	\$4.05
69	10/7/2021	Document Produc	ction B&W	DMF	P's Opposition to Ds' Motion to Dismiss	46.00	\$0.15	\$6.90
70	10/18/2021	Document Produc	ction B&W	KLM	Plaintiffs' motion for contempt	24.00	\$0.15	\$3.60
71	10/21/2021	Document Produc	ction B&W	DMF	Motion for SJ Draft	46.00	\$0.15	\$6.90
72	10/21/2021	Document Produc	ction B&W	DMF	Statement of Facts draft	26.00	\$0.15	\$3.90
73	11/5/2021	Document Produc	ction B&W	KLM	2021-11-xx Pl Reply Brief in Support of Contempt Motion	19.00	\$0.15	\$2.85
74	11/8/2021	Document Produc	ction B&W	DMF	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.15	\$0.30
75	11/8/2021	Document Produc	ction B&W	DMF	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.15	\$0.30
76	11/8/2021	Document Produc	ction B&W	DMF	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.15	\$0.30
77	11/8/2021	Document Produc	ction B&W	DMF	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.15	\$0.30
78	11/8/2021	Document Produc	ction B&W	DMF	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.15	\$0.30
79	11/8/2021	Document Produc	ction B&W	DMF	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.15	\$0.30
80	11/8/2021	Document Produc	ction B&W	DMF	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.15	\$0.30
81	11/8/2021	Document Produc	ction B&W	DMF	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.15	\$0.30
82	11/8/2021	Document Produc	ction B&W	DMF	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.15	\$0.30
83	11/8/2021	Document Produc	ction B&W	DMF	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.15	\$0.30
84	11/8/2021	Document Produc	ction B&W	DMF	Draft Notice Classroom Posting to the Provisionally Certified Class	10.00	\$0.15	\$1.50

Client: IYP IDEA

Case 1:21-cv-00997-CJN Document 201-8 Filed 10/19/23 Page 5 of 21

No.	Date	Category	Subcategory	Name	Description	Quantity	Price	Expense
85	11/8/2021	Document Produc	ction B&W	DMF	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.15	\$0.30
86	11/8/2021	Document Produc	ction B&W	DMF	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.15	\$0.30
87	11/8/2021	Document Produc	ction B&W	DMF	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.15	\$0.30
88	11/8/2021	Document Produc	ction B&W	DMF	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.15	\$0.30
89	11/8/2021	Document Produc	ction B&W	DMF	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.15	\$0.30
90	11/8/2021	Document Produc	ction B&W	DMF	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.15	\$0.30
91	11/8/2021	Document Produc	ction B&W	DMF	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.15	\$0.30
92	11/8/2021	Document Produc	ction B&W	DMF	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.15	\$0.30
93	11/8/2021	Document Produc	ction B&W	DMF	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.15	\$0.30
94	11/8/2021	Document Produc	ction B&W	DMF	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.15	\$0.30
95	11/8/2021	Document Produc	ction B&W	DMF	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.15	\$0.30
96	11/8/2021	Document Produc	ction B&W	DMF	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.15	\$0.30
97	11/8/2021	Document Produc	ction B&W	DMF	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.15	\$0.30
98	11/8/2021	Document Produc	ction B&W	DMF	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.15	\$0.30
99	11/8/2021	Document Produc	ction B&W	DMF	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.15	\$0.30
100	11/8/2021	Document Produc	ction B&W	DMF	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.15	\$0.30
101	11/8/2021	Document Produc	ction B&W	DMF	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.15	\$0.30
102	11/8/2021	Document Produc	ction B&W	DMF	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.15	\$0.30
103	11/8/2021	Document Produc	ction B&W	DMF	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.15	\$0.30
104	11/8/2021	Document Produc	ction B&W	DMF	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.15	\$0.30
105	11/8/2021	Document Produc	ction B&W	DMF	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.15	\$0.30
106	11/8/2021	Document Produc	ction B&W	DMF	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.15	\$0.30
107	11/8/2021	Document Produc	ction B&W	DMF	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.15	\$0.30

Client: IYP IDEA

Case 1:21-cv-00997-CJN Document 201-8 Filed 10/19/23 Page 6 of 21

No.	Date	Category	Subcategory	Name	Description	Quantity	Price	Expense
108	11/8/2021	Document Produc	ction B&W	DMF	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.15	\$0.30
109	12/29/2021	Document Produc	ction B&W	DMF	MAIL RECEIPT	1.00	\$0.15	\$0.15
110	12/29/2021	Document Produc	ction B&W	DMF	IYP Client Journal Cover Letter	1.00	\$0.15	\$0.15
111	12/29/2021	Document Produc	ction B&W	DMF	IYP Client Journal Cover Letter	1.00	\$0.15	\$0.15
112	12/29/2021	Document Produc	ction B&W	DMF	IYP Client Journal Cover Letter	1.00	\$0.15	\$0.15
113	12/29/2021	Document Produc	ction B&W	DMF	IYP Client Journal Cover Letter	1.00	\$0.15	\$0.15
114	12/29/2021	Document Produc	ction B&W	DMF	IYP Client Journal Cover Letter	1.00	\$0.15	\$0.15
115	12/29/2021	Document Produc	ction B&W	DMF	IYP Client Journal Cover Letter	1.00	\$0.15	\$0.15
116	12/29/2021	Document Produc	ction B&W	DMF	IYP Client Journal Cover Letter	1.00	\$0.15	\$0.15
117	12/29/2021	Document Produc	ction B&W	DMF	IYP Client Journal Cover Letter	1.00	\$0.15	\$0.15
118	12/29/2021	Document Produc	ction B&W	DMF	IYP Client Journal Cover Letter	1.00	\$0.15	\$0.15
119	12/29/2021	Document Produc	ction B&W	DMF	IYP Client Journal Cover Letter	1.00	\$0.15	\$0.15
120	1/25/2022	Document Produc	ction B&W	BTP	11_003 Exhibit 1	30.00	\$0.15	\$4.50
121	1/25/2022	Document Produc	ction B&W	ВТР	60-001_Memo in Support of Def. Motion to Dismiss in Part Pl's 2nd Amended Complaint	31.00	\$0.15	\$4.65
122	1/25/2022	Document Produc	ction B&W	BTP	11_015 Exhibit 13	12.00	\$0.15	\$1.80
123	1/25/2022	Document Produc	ction B&W	BTP	82-002_Plaintiffs' Supplemental Brief in Support of Plaintiffs' Contempt	14.00	\$0.15	\$2.10
124	1/25/2022	Document Produc	ction B&W	ВТР	60-001_Memo in Support of Def. Motion to Dismiss in Part Pl's 2nd Amended Complaint	1.00	\$0.15	\$0.15
125	1/25/2022	Document Produc	ction B&W	BTP	11_014 Exhibit 12	7.00	\$0.15	\$1.05
126	1/25/2022	Document Produc	ction B&W	BTP	11_013 Exhibit 11	7.00	\$0.15	\$1.05
127	1/25/2022	Document Produc	ction B&W	BTP	11_009 Exhibit 7	5.00	\$0.15	\$0.75
128	1/25/2022	Document Produc	ction B&W	BTP	Charles H Docket Rpt.pdf	18.00	\$0.15	\$2.70
129	1/25/2022	Document Produc	ction B&W	BTP	66_Plaintiffs Opposition To Defendants? Motion To Dismiss In Part	55.00	\$0.15	\$8.25

Client: IYP IDEA

Case 1:21-cv-00997-CJN Document 201-8 Filed 10/19/23 Page 7 of 21

No.	Date	Category	Subcategory	Name	Description	Quantity	Price	Expense
130	1/25/2022	Document Produc	ction B&W	BTP	88-002_[corrected]Exhibit: Plaintiffs' Supplemental Reply Brief in Support of Contempt Motion	16.00	\$0.15	\$2.40
131	1/25/2022	Document Produc	ction B&W	BTP	11_001 Memorandum in Support of Motion for Class Certification	44.00	\$0.15	\$6.60
132	1/25/2022	Document Produc	ction B&W	BTP	69_Reply to opposition to motion re [60] MOTION to Dismiss in Part Second Amended Complaint	28.00	\$0.15	\$4.20
133	1/25/2022	Document Produc	ction B&W	BTP	11_000 Pl. Motion for Class Certification	2.00	\$0.15	\$0.30
134	1/25/2022	Document Produc	ction B&W	BTP	57_Def Opposition to Motion for Class Certification	28.00	\$0.15	\$4.20
135	1/25/2022	Document Produc	ction B&W	BTP	61_Pl's Reply in Support of Their Motion for Class Certification	32.00	\$0.15	\$4.80
136	1/25/2022	Document Produc	ction B&W	BTP	44-003_Exhibit 1	61.00	\$0.15	\$9.15
137	1/25/2022	Document Produc	ction B&W	BTP	72-000_Motion for Contempt for Failing to Comply with the Preliminary Injunction Order and Imposing	3.00	\$0.15	\$0.45
138	1/25/2022	Document Produc	ction B&W	BTP	72-001_Memo in Support of Motion for Contempt for Failing to Comply with the Preliminary Injunction	25.00	\$0.15	\$3.75
139	1/25/2022	Document Produc	ction B&W	BTP	72-007_Proposed Order on Contempt and Additional Relief	4.00	\$0.15	\$0.60
140	1/25/2022	Document Produc	ction B&W	BTP	77-000_Pl Reply in Support of their Motion for an Order Adjuding the District to be in Contempt for	30.00	\$0.15	\$4.50
141	1/25/2022	Document Produc	ction B&W	BTP	66_Plaintiffs Opposition To Defendants? Motion To Dismiss In Part	1.00	\$0.15	\$0.15
142	1/25/2022	Document Produc	ction B&W	BTP	82-004_Proposed Order for Contempt and Additional Relief	4.00	\$0.15	\$0.60
143	1/25/2022	Document Produc	ction B&W	BTP	76-000_Defendants' Opposition to Plaintiffs' Motion for Contempt	23.00	\$0.15	\$3.45
144	1/25/2022	Document Produc	ction B&W	BTP	87-003_Exhibit Def Response to Pl Supp. Brief in Support of Mot for Contempt	7.00	\$0.15	\$1.05
145	1/25/2022	Document Produc	ction B&W	BTP	76-000_Defendants' Opposition to Plaintiffs' Motion for Contempt	1.00	\$0.15	\$0.15
146	1/25/2022	Document Produc	ction B&W	BTP	82-002_Plaintiffs' Supplemental Brief in Support of Plaintiffs' Contempt	1.00	\$0.15	\$0.15
147	1/25/2022	Document Produc	ction B&W	BTP	77-000_Pl Reply in Support of their Motion for an Order Adjuding the District to be in Contempt for	1.00	\$0.15	\$0.15
148	1/25/2022	Document Produc	ction B&W	BTP	72-000_Motion for Contempt for Failing to Comply with the Preliminary Injunction Order and Imposing	1.00	\$0.15	\$0.15

Client: IYP IDEA

Case 1:21-cv-00997-CJN Document 201-8 Filed 10/19/23 Page 8 of 21

No.	Date	Category	Subcategory	Name	Description	Quantity	Price	Expense
149	1/25/2022 I	Document Produ	ction B&W	BTP	69_Reply to opposition to motion re [60] MOTION to Dismiss in Part Second Amended Complaint	1.00	\$0.15	\$0.15
150	1/26/2022 I	Document Produ	ction B&W	BTP	52_003 Exhibit A - Corrected Summary of IEP Hourly Requirements and Hours Received by IYP Students f	2.00	\$0.15	\$0.30
151	1/26/2022 I	Document Produ	ction B&W	BTP	75-003_(Filed Under Seal) Exhibit A	2.00	\$0.15	\$0.30
152	1/26/2022 I	Document Produ	ction B&W	BTP	64-002_Exhibit A Summary of IEP Hours Received August 2021	2.00	\$0.15	\$0.30
153	1/26/2022 I	Document Produ	ction B&W	BTP	40-018_Exhibit II Summary Chart of IEPs for class as of 7-1-2021	1.00	\$0.15	\$0.15
154	1/26/2022 I	Document Produ	ction B&W	BTP	41_Def Status Report	4.00	\$0.15	\$0.60
155	1/26/2022 I	Document Produ	ction B&W	BTP	89-000_January 3	4.00	\$0.15	\$0.60
156	1/26/2022 I	Document Produ	ction B&W	BTP	81-002_Exhibit A	2.00	\$0.15	\$0.30
157	1/26/2022 I	Document Produ	ction B&W	BTP	74-001_Exhibit A	17.00	\$0.15	\$2.55
158	1/26/2022 I	Document Produ	ction B&W	BTP	71-003_(Filed Under Seal) Exhibit A	2.00	\$0.15	\$0.30
159	1/26/2022 I	Document Produ	ction B&W	BTP	91-003_Ex. A - Corrected Hours Chart	3.00	\$0.15	\$0.45
160	1/26/2022 I	Document Produ	ction B&W	BTP	80-Defendants' Status Report	3.00	\$0.15	\$0.45
161	1/26/2022 I	Document Produ	ction B&W	BTP	38_Memorandum Opinion Accompanying Order Granting Preliminary Injunction (00179692xC4E0D).pdf	27.00	\$0.15	\$4.05
162	1/26/2022 I	Document Produ	ction B&W	BTP	50-00_Defendants' Status Report	6.00	\$0.15	\$0.90
163	1/26/2022 I	Document Produ	ction B&W	BTP	73-001_(FILED UNDER SEAL) Pl. Ex. 1 Summary of Hours Received During Summer Session	1.00	\$0.15	\$0.15
164	1/26/2022 I	Document Produ	ction B&W	BTP	70-000_Def. Status Report	5.00	\$0.15	\$0.75
165	1/26/2022 I	Document Produ	ction B&W	BTP	74-000_Defendants' Status Report	4.00	\$0.15	\$0.60
166	1/26/2022 I	Document Produ	ction B&W	BTP	37_Order Granting Preliminary Injunction	2.00	\$0.15	\$0.30
167	1/26/2022 I	Document Produ	ction B&W	BTP	63_Defendants' Status Report	3.00	\$0.15	\$0.45
168	1/27/2022 I	Document Produ	ction B&W	BTP	44-003_Exhibit 1	1.00	\$0.15	\$0.15
169	1/27/2022 I	Document Produ	ction B&W	ВТР	44-003_Exhibit 1	61.00	\$0.15	\$9.15

Client: IYP IDEA

Case 1:21-cv-00997-CJN Document 201-8 Filed 10/19/23 Page 9 of 21

No.	Date	Category	Subcategory	Name	Description	Quantity	Price	Expense
170	1/27/2022 Г	Document Produc	ction B&W	BTP	44-003_Exhibit 1	1.00	\$0.15	\$0.15
171	1/29/2022 Г	Document Produc	etion B&W	TAG	61_Pl's Reply in Support of Their Motion for Class Certification (00183208xC4E0D)	32.00	\$0.15	\$4.80
172	1/29/2022 Г	Document Produc	etion B&W	TAG	11_001 Memorandum in Support of Motion for Class Certification (00177862xC4E0D)	44.00	\$0.15	\$6.60
173	1/29/2022 Г	Document Produc	ction B&W	TAG	57_Def Opposition to Motion for Class Certification	28.00	\$0.15	\$4.20
174	2/7/2022 Г	Document Produc	ction B&W	CSP	96-004_Exhibit B - Aggregate Hours Chart	1.00	\$0.15	\$0.15
175	2/7/2022 I	Document Produc	ction B&W	CSP	2022-02-xx CSP Notes	24.00	\$0.15	\$3.60
176	2/7/2022 I	Document Produc	ction B&W	CSP	2022-02-xx CSP Notes	22.00	\$0.15	\$3.30
177	2/7/2022 Г	Document Produc	ction B&W	CSP	2022-02-xx CSP Notes	7.00	\$0.15	\$1.05
178	2/7/2022 Г	Document Produc	ction B&W	BTP	IYP Hours July thru December (00187864-3xC4E0D).xlsx	12.00	\$0.15	\$1.80
179	2/7/2022 Г	Document Produc	ction B&W	CSP	96-003_Exhibit A - Hours Chart	1.00	\$0.15	\$0.15
180	2/7/2022 Г	Document Produc	ction B&W	BTP	71-003_(Filed Under Seal) Exhibit A	2.00	\$0.15	\$0.30
181	2/7/2022 Г	Document Produc	ction B&W	BTP	96-003_Exhibit A - Hours Chart (00188089xC4E0D).pdf	2.00	\$0.15	\$0.30
182	2/7/2022 Г	Document Produc	ction B&W	BTP	IYP Hours July thru December (00187864-3xC4E0D).xlsx	10.00	\$0.15	\$1.50
183	2/7/2022 Г	Document Produc	ction B&W	BTP	96-004_Exhibit B - Aggregate Hours Chart (00188090xC4E0D).pdf	3.00	\$0.15	\$0.45
184	2/7/2022 Г	Document Produc	ction B&W	CSP	2022-02-xx CSP Notes	39.00	\$0.15	\$5.85
185	2/7/2022 Г	Document Produc	ction B&W	CSP	96-004_Exhibit B - Aggregate Hours Chart	1.00	\$0.15	\$0.15
186	2/7/2022 Г	Document Produc	ction B&W	BTP	96-004_Exhibit B - Aggregate Hours Chart (00188090xC4E0D).pdf	1.00	\$0.15	\$0.15
187	2/7/2022 Г	Document Produc	ction B&W	CSP	96-003_Exhibit A - Hours Chart	1.00	\$0.15	\$0.15
188	4/28/2022 Г	Document Produc	etion B&W	KLM	2022-04-xx Pl Brief in Opp to District's Motion to Clarify Injunctive and Contempt Relief	28.00	\$0.15	\$4.20
189	5/12/2022 П	Document Produc	etion B&W	TAG	38_Memorandum+Opinion+Accompanying+Ordeminary+Injunction+(00179692 xC4E0D).PDF	27.00	\$0.15	\$4.05
190	5/12/2022 П	Document Produc	etion B&W	TAG	Contempt+Order.pdf	5.00	\$0.15	\$0.75

Client: IYP IDEA

Case 1:21-cv-00997-CJN Document 201-8 Filed 10/19/23 Page 10 of 21

No.	Date	Category	Subcategory	Name	Description	Quantity	Price	Expense
191	5/12/2022 I	Document Produ	ction B&W	TAG	37_Order+Granting+Preliminary+Injunction+(00179691xC4E0D).PDF	2.00	\$0.15	\$0.30
192	5/16/2022 I	Document Produ	ction B&W	TAG	44-003_Exhibit 1, Second Amended Class Action Complaint	61.00	\$0.15	\$9.15
193	6/8/2022 I	Document Produ	ction B&W	KLM	128-002_Proposed Order re Expedited Consideration	1.00	\$0.15	\$0.15
194	6/8/2022 I	Document Produ	ction B&W	KLM	131-1_Proposed Order	1.00	\$0.15	\$0.15
195	6/8/2022 I	Document Produ	ction B&W	KLM	131_Def Opp to Pl Motion for Court Approval of Notice to Members of Class who are Eligible for Conte	5.00	\$0.15	\$0.75
196	6/8/2022 I	Oocument Produ	ction B&W	KLM	128-006_Pl. Ex. 3	1.00	\$0.15	\$0.15
197	6/8/2022 I	Document Produ	ction B&W	KLM	128-005_Pl. Ex. 2	3.00	\$0.15	\$0.45
198	6/8/2022 I	Document Produ	ction B&W	KLM	128-004_Pl. Ex. 1	2.00	\$0.15	\$0.30
199	6/8/2022 I	Document Produ	ction B&W	KLM	128-003_Proposed Order re Notice to Class	2.00	\$0.15	\$0.30
200	6/8/2022 I	Document Produ	ction B&W	KLM	115_Pl's Reply in Support of Mot to Enforce DCPS Plans	24.00	\$0.15	\$3.60
201	6/8/2022 I	Document Produ	ction B&W	KLM	114_Def Opp to Pls' Motion to Enforce the Contempt Order or	8.00	\$0.15	\$1.20
202	6/8/2022 I	Document Produ	ction B&W	KLM	111-002_Exhibit 1	4.00	\$0.15	\$0.60
203	6/8/2022 I	Document Produ	ction B&W	KLM	111-003_Exhibit 2	3.00	\$0.15	\$0.45
204	6/8/2022 I	Document Produ	ction B&W	KLM	101-000_February 16	5.00	\$0.15	\$0.75
205	6/8/2022 I	Document Produ	ction B&W	KLM	111-000_Plaintiffs' Motion to Enforce the Contempt Order	4.00	\$0.15	\$0.60
206	6/8/2022 I	Document Produ	ction B&W	KLM	111-001_Memo in Support of Plaintiffs' Motion to Enforce the Contempt Order	17.00	\$0.15	\$2.55
207	6/8/2022 I	Document Produ	ction B&W	KLM	128-001_Pl Brief in Support of Mtn for Notice to Class	11.00	\$0.15	\$1.65
208	6/8/2022 I	Document Produ	ction B&W	KLM	119-000_Pls' Motion to Enforce the Contempt Order re MAPCS-A Individualized Plans for Former Student	5.00	\$0.15	\$0.75
209	6/8/2022 I	Document Produ	ction B&W	KLM	119-002_Exhibit 1	3.00	\$0.15	\$0.45
210	6/8/2022 I	Document Produ	ction B&W	KLM	119-001_Memo in Support of Pls' Motion to Enforce the Contempt Order re MAPCS-A Individualized Plan	16.00	\$0.15	\$2.40
211	6/8/2022 I	Document Produ	ction B&W	KLM	121-000_Def Opposition to Pl Mtn to Enforce the Contempt Order Concerning Maya Plans for Former Stud	7.00	\$0.15	\$1.05

Client: IYP IDEA

Case 1:21-cv-00997-CJN Document 201-8 Filed 10/19/23 Page 11 of 21

No.	Date	Category	Subcategory	Name	Description	Quantity	Price	Expense
212	6/8/2022 I	Document Produ	ction B&W	KLM	126-000_Pl Reply In Support of Motion to Enforce Contempt Order Concerning Maya Angelou IEPs for For	20.00	\$0.15	\$3.00
213	6/8/2022 I	Document Produ	ction B&W	KLM	126-002_Exhibit 2 Email Communications Between Plaintiffs' Counsel and Counsel	2.00	\$0.15	\$0.30
214	6/8/2022 I	Document Produ	ction B&W	KLM	128-000_Pl Motion for Court Approval of Notice to Class	3.00	\$0.15	\$0.45
215	6/16/2022 I	Document Produ	ction B&W	KLM	111-005_Proposed Order in the Alternative	2.00	\$0.15	\$0.30
216	6/16/2022 I	Document Produ	ction B&W	KLM	119-003_Proposed Order to Enforce (00190450xC4E0D).pdf	2.00	\$0.15	\$0.30
217	6/17/2022 I	Document Produ	ction B&W	KLM	Argument re Lack of Full Plans for Contempt Remedy and Notice to the Class	2.00	\$0.15	\$0.30
218	6/17/2022 I	Document Produ	ction B&W	BTP	IYP Hours July thru Present (00187864-4xC4E0D).xlsx	4.00	\$0.15	\$0.60
219	6/17/2022 I	Document Produ	ction B&W	BTP	IYP Hours July thru Present (00187864-4xC4E0D).xlsx	5.00	\$0.15	\$0.75
220	6/18/2022 I	Document Produ	ction B&W	KLM	117-003_Ex. C - Glick Decl. Unredacted	3.00	\$0.15	\$0.45
221	6/18/2022 I	Document Produ	ction B&W	KLM	110-001_[SEALED] Exhibit A - Student Comp Svc Plans	39.00	\$0.15	\$5.85
222	6/18/2022 I	Document Produ	ction B&W	KLM	Changes to the TLF Rubric.pdf	2.00	\$0.15	\$0.30
223	6/18/2022 I	Document Produ	ction B&W	KLM	109-001_Exhibit A	7.00	\$0.15	\$1.05
224	6/18/2022 I	Document Produ	ction B&W	KLM	116-001_Ex. A	4.00	\$0.15	\$0.60
225	6/18/2022 I	Document Produ	ction B&W	KLM	117-002_Ex. B - Ind. Svc. Auth. Letters	12.00	\$0.15	\$1.80
226	6/18/2022 I	Document Produ	ction B&W	KLM	122_Def Status Report	3.00	\$0.15	\$0.45
227	6/18/2022 I	Document Produ	ction B&W	KLM	124-000_[SEALED] Notice of Sealed Filing	2.00	\$0.15	\$0.30
228	6/18/2022 I	Document Produ	ction B&W	KLM	124-001_[SEALED] Ex. A - DCPS Student Letters DOC	25.00	\$0.15	\$3.75
229	6/18/2022 I	Document Produ	ction B&W	KLM	Changes to the TLF Rubric.pdf	12.00	\$0.15	\$1.80
230	6/18/2022 I	Document Produ	ction B&W	KLM	133-011_[SEALED]Ex. K - OSSE-Maya Comp Svc Letters	13.00	\$0.15	\$1.95
231	6/18/2022 I	Document Produ	ction B&W	KLM	117-001_Ex. A - MAPCS Plans	20.00	\$0.15	\$3.00
232	6/18/2022 I	Document Produ	ction B&W	KLM	132_June 3	3.00	\$0.15	\$0.45
233	6/18/2022 I	Document Produ	ction B&W	KLM	74-001_Exhibit A	17.00	\$0.15	\$2.55

Client: IYP IDEA

Case 1:21-cv-00997-CJN Document 201-8 Filed 10/19/23 Page 12 of 21

No.	Date	Category	Subcategory	Name	Description	Quantity	Price	Expense
234	6/23/2022 I	Document Produ	ction B&W	TAG	Notes for next steps in IYP following oral argument	2.00	\$0.15	\$0.30
235	6/29/2022 I	Document Produ	ction B&W	TAG	Banks v Booth	4.00	\$0.15	\$0.60
236	6/30/2022 I	Document Produ	ction B&W	TAG	Microsoft Outlook - Memo Style	2.00	\$0.15	\$0.30
237	7/7/2022 I	Document Produ	ction B&W	TAG	TAG Notes Regarding Outstanding IYP Issues	2.00	\$0.15	\$0.30
238	7/11/2022 I	Document Produ	ction B&W	DMF	2022-07-11 TPM Contempt Relief Notice Letter to	2.00	\$0.15	\$0.30
239	7/11/2022 I	Document Produ	ction B&W	DMF	2022-07-11 TPM Contempt Relief Notice Letter to	2.00	\$0.15	\$0.30
240	7/11/2022 I	Document Produ	ction B&W	DMF	2022-07-11 TPM Contempt Relief Notice Letter to	2.00	\$0.15	\$0.30
241	7/11/2022 I	Document Produ	ction B&W	DMF	2022-07-11 TPM Contempt Relief Notice Letter to	2.00	\$0.15	\$0.30
242	7/11/2022 I	Document Produ	ction B&W	DMF	2022-07-11 TPM Contempt Relief Notice Letter to	2.00	\$0.15	\$0.30
243	7/11/2022 I	Document Produ	ction B&W	DMF	2022-07-11 TPM Contempt Relief Notice Letter to	2.00	\$0.15	\$0.30
244	7/11/2022 I	Document Produ	ction B&W	DMF	2022-07-11 TPM Contempt Relief Notice Letter to	2.00	\$0.15	\$0.30
245	7/11/2022 I	Document Produ	ction B&W	DMF	2022-07-11 TPM Contempt Relief Notice Letter to	2.00	\$0.15	\$0.30
246	7/11/2022 I	Document Produ	ction B&W	DMF	2022-07-11 TPM Contempt Relief Notice Letter to	2.00	\$0.15	\$0.30
247	7/11/2022 I	Document Produ	ction B&W	DMF	2022-07-11 TPM Contempt Relief Notice Letter to	2.00	\$0.15	\$0.30
248	7/11/2022 I	Document Produ	ction B&W	DMF	2022-07-11 TPM Contempt Relief Notice Letter to	2.00	\$0.15	\$0.30
249	7/11/2022 I	Document Produ	ction B&W	DMF	2022-07-11 TPM Contempt Relief Notice Letter to	2.00	\$0.15	\$0.30
250	7/11/2022 I	Document Produ	ction B&W	DMF	2022-07-11 TPM Contempt Relief Notice Letter to	2.00	\$0.15	\$0.30
251	7/11/2022 I	Document Produ	ction B&W	DMF	2022-07-11 TPM Contempt Relief Notice Letter to	2.00	\$0.15	\$0.30
252	7/11/2022 I	Document Produ	ction B&W	DMF	2022-07-11 TPM Contempt Relief Notice Letter to	2.00	\$0.15	\$0.30
253	7/11/2022 I	Document Produ	ction B&W	DMF	2022-07-11 TPM Contempt Relief Notice Letter to	2.00	\$0.15	\$0.30
254	7/11/2022 I	Document Produ	ction B&W	DMF	2022-07-11 TPM Contempt Relief Notice Letter to	2.00	\$0.15	\$0.30
255	7/11/2022 I	Document Produ	ction B&W	DMF	2022-07-11 TPM Contempt Relief Notice Letter to	2.00	\$0.15	\$0.30
256	7/11/2022 I	Document Produ	ction B&W	DMF	2022-07-11 TPM Contempt Relief Notice Letter to	2.00	\$0.15	\$0.30

Client: IYP IDEA

No.	Date	Category	Subcategory	Name	Description	Quantity	Price	Expense
257	7/11/2022 I	Oocument Produ	ction B&W	DMF	2022-07-11 TPM Contempt Relief Notice Letter to	2.00	\$0.15	\$0.30
258	7/11/2022 Г	Oocument Produ	ction B&W	DMF	2022-07-11 TPM Contempt Relief Notice Letter to	2.00	\$0.15	\$0.30
259	7/11/2022 Г	Oocument Produ	ction B&W	DMF	2022-07-11 TPM Contempt Relief Notice Letter to	2.00	\$0.15	\$0.30
260	7/11/2022 Г	Oocument Produ	ction B&W	DMF	2022-07-11 TPM Contempt Relief Notice Letter to	2.00	\$0.15	\$0.30
261	7/11/2022 I	Oocument Produ	ction B&W	DMF	2022-07-11 TPM Contempt Relief Notice Letter to	2.00	\$0.15	\$0.30
262	7/11/2022 I	Oocument Produ	ction B&W	DMF	2022-07-11 TPM Contempt Relief Notice Letter to	2.00	\$0.15	\$0.30
263	7/11/2022 Г	Oocument Produ	ction B&W	DMF	2022-07-11 TPM Contempt Relief Notice Letter to	2.00	\$0.15	\$0.30
264	7/11/2022 Г	Oocument Produ	ction B&W	DMF	IYP Class Notice Spreadsheet (00192003xC4E0D).xlsx	1.00	\$0.15	\$0.15
265	7/11/2022 Г	Oocument Produ	ction B&W	DMF	2022-07-11 TPM Contempt Relief Notice Letter to	2.00	\$0.15	\$0.30
266	7/11/2022 Г	Oocument Produ	ction B&W	DMF	Microsoft Word - 2022-07-11 TPM Contempt Relief Notice Letter to (00192244-6xC4E0D).do	2.00	\$0.15	\$0.30
267	7/11/2022 Г	Oocument Produ	ction B&W	DMF	2022-07-11 TPM Contempt Relief Notice Letter to	2.00	\$0.15	\$0.30
268	7/11/2022 Г	Oocument Produ	ction B&W	DMF	2022-07-11 TPM Contempt Relief Notice Letter to	2.00	\$0.15	\$0.30
269	7/11/2022 Г	Oocument Produ	ction B&W	DMF	2022-07-11 TPM Contempt Relief Notice Letter to	2.00	\$0.15	\$0.30
270	7/11/2022 Г	Oocument Produ	ction B&W	DMF	2022-07-11 TPM Contempt Relief Notice Letter to	2.00	\$0.15	\$0.30
271	7/11/2022 Г	Oocument Produ	ction B&W	DMF	2022-07-11 TPM Contempt Relief Notice Letter to	2.00	\$0.15	\$0.30
272	7/11/2022 Г	Oocument Produ	ction B&W	DMF	2022-07-11 TPM Contempt Relief Notice Letter to	2.00	\$0.15	\$0.30
273	7/11/2022 Г	Oocument Produ	ction B&W	DMF	2022-07-11 TPM Contempt Relief Notice Letter to	2.00	\$0.15	\$0.30
274	7/11/2022 Г	Oocument Produ	ction B&W	DMF	2022-07-11 TPM Contempt Relief Notice Letter to	2.00	\$0.15	\$0.30
275	7/11/2022 Г	Oocument Produ	ction B&W	DMF	2022-07-11 TPM Contempt Relief Notice Letter to	2.00	\$0.15	\$0.30
276	7/11/2022 I	Oocument Produ	ction B&W	DMF	2022-07-11 TPM Contempt Relief Notice Letter to	2.00	\$0.15	\$0.30
277	7/11/2022 I	Oocument Produ	ction B&W	DMF	2022-07-11 TPM Contempt Relief Notice Letter to	2.00	\$0.15	\$0.30
278	7/11/2022 Г	Document Produc	ction B&W	DMF	2022-07-11 TPM Contempt Relief Notice Letter to	2.00	\$0.15	\$0.30

Client: IYP IDEA

Case 1:21-cv-00997-CJN Document 201-8 Filed 10/19/23 Page 14 of 21

No.	Date	Category	Subcategory	Name	Description	Quantity	Price	Expense
279	7/11/2022 I	Document Produc	ction B&W	DMF	2022-07-11 TPM Contempt Relief Notice Letter to	2.00	\$0.15	\$0.30
280	7/11/2022 I	Document Produc	ction B&W	DMF	2022-07-xx TPM Contempt Relief Notice Letter to	2.00	\$0.15	\$0.30
281	7/11/2022 I	Document Produc	ction B&W	DMF	2022-07-11 TPM Contempt Relief Notice Letter to	2.00	\$0.15	\$0.30
282	7/11/2022 I	Document Produc	ction B&W	DMF	Microsoft Word - 2022-07-11 TPM Contempt Relief Notice Letter to (00192249-5xC4E0D).d	2.00	\$0.15	\$0.30
283	7/11/2022 I	Document Produc	ction B&W	DMF	2022-07-11 TPM Contempt Relief Notice Letter to	2.00	\$0.15	\$0.30
284	7/19/2022 I	Document Produc	ction B&W	TAG	Microsoft Word - Draft Plaintiffs' Confidential Mediation Statement (00192767-2xC4E0D).docx	8.00	\$0.15	\$1.20
285	7/21/2022 I	Document Produc	ction B&W	TAG	Microsoft Word - Draft Plaintiffs' Confidential Mediation Statement (00192767-10xC4E0D).docx	10.00	\$0.15	\$1.50
286	7/30/2022 I	Document Produc	ction B&W	KLM	Plaintiffs' Confidential Mediation Statement (00193140xC4E0D).pdf	13.00	\$0.15	\$1.95
287	8/1/2022 I	Document Produc	ction B&W	TAG	Microsoft Word - Charles H Litigation Team Prep for Mediation Memo (00192958-10xC4E0D) (003).docx	6.00	\$0.15	\$0.90
288	8/1/2022 I	Document Produc	ction B&W	TAG	Plaintiffs' Confidential Mediation Statement (00193140xC4E0D)	13.00	\$0.15	\$1.95
289	8/12/2022 I	Document Produc	ction B&W	BTP	Microsoft Word - Avery5163ShippingLabels.doc	1.00	\$0.15	\$0.15
290	8/12/2022 I	Document Produc	ction B&W	BTP	Microsoft Word - Avery5160EasyPeelAddressLabels.doc	1.00	\$0.15	\$0.15
291	8/12/2022 I	Document Produc	ction B&W	BTP	Microsoft Word - Avery5163ShippingLabels.doc	1.00	\$0.15	\$0.15
292	8/15/2022 I	Document Produc	ction B&W	TAG	Microsoft Word - Plaintiffs' Term Sheet.docx	3.00	\$0.15	\$0.45
293	8/15/2022 I	Document Produc	ction B&W	TAG	Microsoft Word - Charles H. Defs.' Term Sheet Response 8.12.22.docx	3.00	\$0.15	\$0.45
294	8/22/2022 I	Document Produc	ction B&W	TAG	DCPS_section_504_policy.pdf	13.00	\$0.15	\$1.95
295	9/9/2022 I	Document Produc	ction B&W	CSP	2022-09-xx Draft Charles H Settlement Agreement	50.00	\$0.15	\$7.50
296	10/5/2022 I	Document Produc	ction B&W	KLM	Microsoft Word - 2022.10.xx Draft Settlement Agreement Redlined by the Parties - FORWARD LOOKING REL	40.00	\$0.15	\$6.00
297	10/5/2022 I	Document Produc	ction B&W	KLM	Microsoft Word - 2022.10.xx Draft Settlement Agreement Redlined by the Parties - FORWARD LOOKING REL	43.00	\$0.15	\$6.45
298	12/10/2022 I	Document Produc	ction B&W	KLM	2022-12-xx Pls' Redline of Defs' 11-30-2022 Backward Looking Provisions	21.00	\$0.15	\$3.15

Client: IYP IDEA

Case 1:21-cv-00997-CJN Document 201-8 Filed 10/19/23 Page 15 of 21

No.	Date	Category	Subcategory	Name	Description	Quantity	Price	Expense
299	12/13/2022 I	Document Produ	ction B&W	KLM	2022-12-xx Pls' Redline of Defs' 11-30-2022 Backward Looking Provisions	23.00	\$0.15	\$3.45
300	12/14/2022 I	Document Produ	ection B&W	KLM	Microsoft Word - 2022-12-14 Pls Forward-Looking Bullet Points for December 16 Mediation Session (001	3.00	\$0.15	\$0.45
301	12/17/2022 I	Document Produ	ction B&W	KLM	2022-12-xx Plaintiffs' Redline of Complete Forward-Looking Draft	40.00	\$0.15	\$6.00
302	12/17/2022 I	Document Produ	ction B&W	KLM	2022-12-xx Plaintiffs' Redline of Complete Forward-Looking Draft	10.00	\$0.15	\$1.50
303	12/29/2021 I	Document Produ	ction Color	DMF	IYP Client Journal Cover Letter	1.00	\$0.25	\$0.25
304	12/29/2021 I	Document Produ	ction Color	DMF	IYP Client Journal Cover Letter	1.00	\$0.25	\$0.25
305	12/29/2021 I	Document Produ	ction Color	DMF	IYP Client Journal Cover Letter	1.00	\$0.25	\$0.25
306	12/29/2021 I	Document Produ	ction Color	DMF	IYP Client Journal Cover Letter	1.00	\$0.25	\$0.25
307	12/29/2021 I	Document Produ	ction Color	DMF	IYP Client Journal Cover Letter	1.00	\$0.25	\$0.25
308	12/29/2021 I	Document Produ	ction Color	DMF	IYP Client Journal Cover Letter	1.00	\$0.25	\$0.25
309	12/29/2021 I	Document Produ	ction Color	DMF	IYP Client Journal Cover Letter	1.00	\$0.25	\$0.25
310	12/29/2021 I	Document Produ	ction Color	DMF	IYP Client Journal Cover Letter	1.00	\$0.25	\$0.25
311	12/29/2021 I	Document Produ	ction Color	DMF	IYP Client Journal Cover Letter	1.00	\$0.25	\$0.25
312	12/29/2021 I	Document Produ	ction Color	DMF	IYP Client Journal Cover Letter	1.00	\$0.25	\$0.25
313	1/24/2022 1	Document Produ	ction Color	BTP	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.25	\$0.50
314	1/24/2022 1	Document Produ	ction Color	BTP	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.25	\$0.50
315	1/24/2022 1	Document Produ	ction Color	BTP	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.25	\$0.50
316	1/24/2022 1	Document Produ	ction Color	BTP	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.25	\$0.50
317	1/24/2022 I	Document Produ	ction Color	BTP	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.25	\$0.50
318	1/24/2022 I	Document Produ	ction Color	BTP	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.25	\$0.50
319	1/24/2022 I	Document Produ	ction Color	BTP	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.25	\$0.50
320	1/24/2022 1	Document Produ	ction Color	BTP	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.25	\$0.50

Client: IYP IDEA

Case 1:21-cv-00997-CJN Document 201-8 Filed 10/19/23 Page 16 of 21

No.	Date	Category	Subcategory	Name	Description	Quantity	Price	Expense
321	1/24/2022 I	Document Produ	ction Color	BTP	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.25	\$0.50
322	1/24/2022 I	Document Produ	ction Color	BTP	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.25	\$0.50
323	1/24/2022 I	Document Produ	ction Color	BTP	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.25	\$0.50
324	1/24/2022 I	Document Produ	ction Color	BTP	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.25	\$0.50
325	1/25/2022 I	Document Produ	ction Color	BTP	11_008 Exhibit 6	3.00	\$0.25	\$0.75
326	2/7/2022 I	Document Produ	ction Color	CSP	2022-02-xx CSP Notes	2.00	\$0.25	\$0.50
327	2/7/2022 I	Document Produ	ction Color	BTP	12_022 Exhibit 20	76.00	\$0.25	\$19.00
328	2/7/2022 I	Document Produ	ction Color	BTP	70-000_Def. Status Report	5.00	\$0.25	\$1.25
329	2/7/2022 I	Document Produ	ction Color	BTP	95_February 3	3.00	\$0.25	\$0.75
330	2/7/2022 I	Document Produ	ction Color	BTP	IYP Hours July thru December (00187864-3xC4E0D).xlsx	10.00	\$0.25	\$2.50
331	2/7/2022 I	Document Produ	ction Color	BTP	IYP Hours July thru December (00187864-3xC4E0D).xlsx	1.00	\$0.25	\$0.25
332	2/7/2022 I	Document Produ	ction Color	BTP	IYP Hours July thru December (00187864-3xC4E0D).xlsx	2.00	\$0.25	\$0.50
333	6/17/2022 I	Document Produ	ction Color	KLM	Argument re Lack of Full Plans for Contempt Remedy and Notice to the Class	3.00	\$0.25	\$0.75
334	7/11/2022 I	Document Produ	ction Color	DMF	2022-07-11 TPM Contempt Relief Notice Letter to	1.00	\$0.25	\$0.25
335	8/12/2022 I	Document Produ	ction Color	BTP	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.25	\$0.50
336	8/12/2022 I	Document Produ	ction Color	BTP	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.25	\$0.50
337	8/12/2022 I	Document Produ	ction Color	BTP	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.25	\$0.50
338	8/12/2022 I	Document Produ	ction Color	BTP	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.25	\$0.50
339	8/12/2022 I	Document Produ	ction Color	BTP	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.25	\$0.50
340	8/12/2022 I	Document Produ	ction Color	BTP	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.25	\$0.50
341	8/12/2022 I	Document Produ	ction Color	BTP	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.25	\$0.50
342	8/12/2022 I	Document Produ	ction Color	BTP	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.25	\$0.50
343	8/12/2022 I	Document Produ	ction Color	ВТР	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.25	\$0.50

Client: IYP IDEA

Case 1:21-cv-00997-CJN Document 201-8 Filed 10/19/23 Page 17 of 21

No.	Date	Category	Subcategory	Name	Description	Quantity	Price	Expense
344	8/12/2022 D	ocument Produc	ction Color	BTP	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.25	\$0.50
345	8/12/2022 D	ocument Produc	ction Color	BTP	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.25	\$0.50
346	8/12/2022 D	ocument Produc	ction Color	BTP	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.25	\$0.50
347	8/12/2022 D	ocument Produc	ction Color	BTP	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.25	\$0.50
348	8/12/2022 D	ocument Produc	ction Color	BTP	Draft Notice Letter to Provisionally Certified Class Members	2.00	\$0.25	\$0.50
349	4/14/2021 De	ocument Produc	ction External	SAS	FedEx, Invoice No. 4/14/2021, Invoice Date:4/14/2021, Item: Plaintiffs' Motion for a Preliminary Injunction and Plaintiffs' Motion for Class Certification (WD 178689)	1.00	\$551.22	\$551.22
350	4/19/2021 D	ocument Produc	tion External	LLW	FedEx, Invoice No. 4/19/2021, Invoice Date:4/19/2021, Item: Printing and binding for motion for class cert. and PI motion (WD 178775)	1.00	\$71.04	\$71.04
351	5/28/2021 D	ocument Produc	tion External	SAS	FedEx, Invoice No. 5/28/2021, Invoice Date:5/28/2021, Item: Courtesy Copies of Reply Brief in Support of Pl Motion (WD 180981)	1.00	\$115.67	\$115.67
352	6/2/2021 D	ocument Produc	tion External	SAS	FedEx, Invoice No. 6/2/2021, Invoice Date:6/2/2021, Item: Expedited printing for Pl Motion to Amend Complaintand accompanying docs (WD 181015)	1.00	\$246.79	\$246.79
353	7/23/2021 D	ocument Produc	ction External	SAS	FedEx, Invoice No. 7/23/2021, Invoice Date:7/23/2021, Item: ECF 44 (Pl's Motion for Leave to File a 2d Amended Complaint) & ECF 45 (Pl Opp to Def Motion to Dismiss in Part Pl's Amended Complaint) (WD 183714)	1.00	\$105.00	\$105.00
354	9/10/2021 D	ocument Produc	tion External	SAS	FedEx, Invoice No.: 0613965 Invoice Date: 9/10/21, Item: ECF 66 (Pl Opp to Def Motion to Dismiss) and ECF 67 (Motion to File Under Seal) (WD 184266)	1.00	\$84.47	\$84.47
355	10/19/2021 D	ocument Produc	tion External	SAS	FedEx, Invoice No. 10/19/2021, Invoice Date:10/19/2021, Item: Plaintiffs' Motion for Contempt (ECF 72) (WD 185701)	1.00	\$50.59	\$50.59
356	3/24/2022 D	ocument Produc	ction External	SAS	FedEx, Invoice No: 3/24/2022, Invoice Date: 3/24/2022, Item: Courtesy copies of Plaintiffs' Motion to Enforce the Contempt Order, Concering the DCPS Individualized Plans, or, in the Alternative, For Clarification Concerning the Scope of Individualized Plans and Request for Expedited Consideration (WD 191563)	1.00	\$34.32	\$34.32
357	5/4/2022 D	ocument Produc	ction External	SAS	FedEx, Invoice No. 5/4/2022, Invoice Date:5/4/2022, Item: ECF 120 (WD 192231)	1.00	\$169.44	\$169.44

Client: IYP IDEA

Case 1:21-cv-00997-CJN Document 201-8 Filed 10/19/23 Page 18 of 21

No.	Date	Category	Subcategory	Name	Description	Quantity	y Price	Expense
358	5/13/2022	Document Produ	ction External	LGC	FedEx, Invoice No. 06710175960, Invoice Date:5/13/2022, Item: Pls' Motion for Leave to File a Sur-Reply in Response to Def Reply in Further Support of their Motion for Clarification of the PI and Contempt Orders or for Modifications (WD 191817)	1.00	\$29.25	\$29.25
359	4/9/2021	Expert Fees	Brojomohun- Gagnon	TPM	Joseph Calvin Brojomohun-Gagnon, Invoice No:1, Invoice Date: 4/9/2021, For Services from 3/3/2021 to 4/9/2021 (WD 178120)	10,100.00	\$1.00	\$10,100.00
360	8/31/2021	Expert Fees	Brojomohun- Gagnon	TPM	Joseph Calvin Brojomohun-Gagnon, Invoice No:2, Invoice Date: 9/4/2021, For Services from 8/1/2021 to 8/31/2021 (WD 78120)	1,200.00	\$1.00	\$1,200.00
361	2/28/2022	Expert Fees	Brojomohun- Gagnon	TPM	Joseph Calvin Brojomohun-Gagnon, Invoice No:2, Invoice Date: 3/1/2022, For Services from 1/1/2022 to 2/28/2022 (WD 189140)	1.00	\$400.00	\$400.00
362	4/30/2022	Expert Fees	Brojomohun- Gagnon	TPM	Joseph Calvin Brojomohun-Gagnon, Invoice No:3, Invoice Date: 4/27/2022, For Services from 3/1/2022 to 4/30/2022 (WD 189140)	1.00	\$2,250.00	\$2,250.00
363	10/31/2022	Expert Fees	Brojomohun- Gagnon	TPM	Joseph Calvin Brojomohun-Gagnon, Invoice No:4, Invoice Date: 10/31/2022, For Services from 9/1/2022 to 10/31/2022 (WD 189140)	1.00	\$800.00	\$800.00
364	12/31/2022	Expert Fees	Brojomohun- Gagnon	TPM	Joseph Calvin Brojomohun-Gagnon, Ph.D., Invoice No:1/24/2023, Invoice Date: 1/24/2023, For Services from 12/1/2022 to 12/31/2022 (WD 189140)	1.00	\$200.00	\$200.00
365	4/5/2021	Expert Fees	Nelson	TPM	Eden Nelson, Invoice No:001, Invoice Date: 4/20/2021, For Services from 3/13/2021 to 4/5/2021 (WD 178130)	3,300.00	\$1.00	\$3,300.00
366	4/12/2021	Filing Fee		NFS	Filing fee for complaint (WD 178647)	1.00	\$402.00	\$402.00
367	8/31/2020	Lexis/Westlaw		TPM	Westlaw charges for August 2020 (WD 172851)	1.00	\$263.69	\$263.69
368	9/30/2020	Lexis/Westlaw		TPM	Westlaw charges for September 2020 (WD 172851)	1.00	\$234.10	\$234.10
369	10/31/2020	Lexis/Westlaw		TPM	Westlaw charges for October 2020 (WD 172851)	1.00	\$71.41	\$71.41
370	11/30/2020	Lexis/Westlaw		TPM	Westlaw charges for November 2020 (WD 172851)	1.00	\$38.64	\$38.64
371	1/31/2021	Lexis/Westlaw		TPM	Westlaw charges for January 2021 (WD 176210)	1.00	\$2.69	\$2.69
372	2/28/2021	Lexis/Westlaw		TPM	Westlaw charges for February 2021 (WD 176210)	1.00	\$1,191.13	\$1,191.13
373	3/31/2021	Lexis/Westlaw		TPM	Westlaw charges for March 2021 (WD 176210)	1.00	\$1,305.52	\$1,305.52
374	4/30/2021	Lexis/Westlaw		TPM	Westlaw charges for April 2021 (WD 176210)	1.00	\$1,991.34	\$1,991.34
375	5/31/2021	Lexis/Westlaw		TPM	Westlaw charges for May 2021 (WD 176210)	1.00	\$864.66	\$864.66

Client: IYP IDEA

Case 1:21-cv-00997-CJN Document 201-8 Filed 10/19/23 Page 19 of 21

No.	Date	Category	Subcategory	Name	Description	Quantity	Price	Expense
376	6/30/2021	Lexis/Westlaw		TPM	Westlaw charges for June 2021 (WD 176210)	1.00	\$167.42	\$167.42
377	7/31/2021	Lexis/Westlaw		TPM	Westlaw charges for July 2021 (WD 176210)	1.00	\$1,660.49	\$1,660.49
378	8/31/2021	Lexis/Westlaw		TPM	Westlaw charges for August 2021 (WD 176210)	1.00	\$1,381.34	\$1,381.34
379	9/30/2021	Lexis/Westlaw		TPM	Westlaw charges for September 2021 (WD 176210)	1.00	\$1,021.83	\$1,021.83
380	10/31/2021	Lexis/Westlaw		TPM	Westlaw charges for October 2021 (WD 176210)	1.00	\$414.67	\$414.67
381	11/30/2021	Lexis/Westlaw		TPM	Westlaw charges for November 2021 (WD 176210)	1.00	\$474.94	\$474.94
382	12/31/2021	Lexis/Westlaw		TPM	Westlaw charges for December 2021 (WD 176210)	1.00	\$170.32	\$170.32
383	1/31/2022	Lexis/Westlaw		TPM	Westlaw charges for January 2022 (WD 188022)	1.00	\$344.31	\$344.31
384	2/28/2022	Lexis/Westlaw		TPM	Westlaw charges for February 2022 (WD 188022)	1.00	\$661.38	\$661.38
385	3/31/2022	Lexis/Westlaw		TPM	Westlaw charges for March 2022 (WD 188022)	1.00	\$750.68	\$750.68
386	4/30/2022	Lexis/Westlaw		TPM	Westlaw charges for April 2022 (WD 188022)	1.00	\$1,063.28	\$1,063.28
387	5/31/2022	Lexis/Westlaw		TPM	Westlaw charges for May 2022 (WD 188022)	1.00	\$772.49	\$772.49
388	6/30/2022	Lexis/Westlaw		TPM	Westlaw charges for June 2022 (WD 188022)	1.00	\$322.79	\$322.79
389	7/31/2022	Lexis/Westlaw		TPM	Westlaw charges for July 2022 (WD 188022)	1.00	\$519.61	\$519.61
390	8/31/2022	Lexis/Westlaw		TPM	Westlaw charges for August 2022 (WD 188022)	1.00	\$174.20	\$174.20
391	9/30/2022	Lexis/Westlaw		TPM	Westlaw charges for September 2022 (WD 188022)	1.00	\$88.85	\$88.85
392	10/31/2022	Lexis/Westlaw		TPM	Westlaw charges for October 2022 (WD 188022)	1.00	\$70.51	\$70.51
393	11/30/2022	Lexis/Westlaw		TPM	Westlaw charges for November 2022 (WD 188022)	1.00	\$146.25	\$146.25
394	4/14/2021	Messenger Delive	ry Fees	SAS	QMS, Invoice No. 0612823, Invoice Date:5/1/2021, Item: Courtesy Copies of Pl.'s Motion to Proceed Under Pseudonyms, Plaintiffs' Motion to File Under Seal Exhibits to their Motion to Proceed Under Pseudonyms, Class Action Complaint for Declaratory, Injunctive, and Other Relief, Notices of Appearance, Pl. Motion for Class Certification, and Pl. Motion for Preliminary Injunction (WD 178706)	1.00	\$76.43	\$76.43
395	5/28/2021	Messenger Delive	ery Fees	SAS	QMS, Invoice No. 0613038, Invoice Date: 06/01/2021, Delivery to U.S. District Court for the District of Columbia, Item: Courtesy Copy of Plaintiffs' Reply Brief in Support of Their Motion For Preliminary Injunction (WD 178706)	1.00	\$30.05	\$30.05

Client: IYP IDEA

Case 1:21-cv-00997-CJN Document 201-8 Filed 10/19/23 Page 20 of 21

Date	Category	Subcategory	Name	Description	Quantity	Price	Expense
6/2/2021	Messenger Delive	ery Fees	SAS	QMS, Invoice No. 0613256, Invoice Date 7/1/2021, Delivery to U.S. District Court for the District of Columbia, Item: Motion for Leave to File an Amended and Supplemented Complaint (WD 178706)	1.00	\$45.95	\$45.95
7/23/2021	Messenger Delive	ery Fees	SAS	QMS, Invoice No. 0613490, Invoice Date 8/1/2021, Delivery to U.S. District Court for the District of Columbia, 333 Constitution Ave, NW, Washington, DC 20001, Item: ECF 44, Pl Motion for Leave to File a 2nd Amended Complaint & ECF 45, Pl Opposition to Def's Motion to Dismiss (WD 178706)	1.00	\$30.05	\$30.05
9/10/2021	Messenger Delive	ery Fees	SAS	QMS, Invoice No. 0613965, Invoice Date 10/1/2021, Delivery to DC District Court, 333 Constitution Ave, NW, Washington, DC 20001, Item: Plaintiffs' Opposition To Defendants' Motion To Dismiss In Part Plaintiffs' Second Amended Complaint (ECF 66) & Pl Motion for Leave to File Under Seal (ECF 67) (WD 178706)	1.00	\$38.00	\$38.00
10/19/2021	Messenger Delive	ery Fees	SAS	QMS, Invoice No. 0614199, Invoice Date 11/01/2021, Delivery to DC District Court, 333 Constitution Ave, NW, Washington, DC 20001, Item: Plaintiffs' Motion for Contempt (ECF 72) (WD 178706)	1.00	\$29.87	\$29.87
11/8/2021	Messenger Delive	ery Fees	SAS	QMS, Invoice No. 0614429, Invoice Date 12/01/2021, Delivery to DC District Court, 333 Constitution Ave, NW, Washington, DC 20001, Item: Plaintiffs' Reply in Support of Motion on Contempt (ECF 77) (WD 178706)	1.00	\$15.32	\$15.32
5/4/2022	Messenger Delive	ery Fees	SAS	Messenger to U.S. District Court for the District of Columbia, 0615857, 06/01/21, Delivery to District Court, Item: Plaintiffs' Opposition to Defendants' Motion for Clarification (ECF 120) (WD 191976)	1.00	\$30.42	\$30.42
5/13/2022	Messenger Delive	ery Fees	LGC	Messenger to U.S. District Court for the District of Columbia, 0615857, 06/01/21, Delivery to District Court, Item: Plaintiffs' Motion for Leave to File a Sur-Reply (ECF 127) (WD 191976)	1.00	\$22.23	\$22.23
8/17/2022	Messenger Delive	ery Fees	LGC	QMS, Invoice No. 0616598, Invoice Date 9/01/2022, Delivery to Corinne Nastro, Federal Bureau of Prisons, 320 First St, NW, Washington, DC 20534, Item: List of students in BOP housing (WD 191976)	1.00	\$72.98	\$72.98
2/28/2021	PACER		TPM	Pacer charges for February 2021 (WD 180547)	1.00	\$28.70	\$28.70
1/31/2022	PACER		TPM	Pacer charges for January 2022 (WD 196640)	1.00	\$1.60	\$1.60
2/28/2022	PACER		TPM	Pacer charges for February 2022 (WD 196640)	1.00	\$3.70	\$3.70
3/31/2022	PACER		TPM	Pacer charges for March 2022 (WD 196640)	1.00	\$3.00	\$3.00
10/31/2022	PACER		TPM	Pacer charges for October 2022 (WD 196640)	1.00	\$0.20	\$0.20
	6/2/2021 7/23/2021 9/10/2021 0/19/2021 11/8/2021 5/4/2022 8/17/2022 2/28/2021 1/31/2022 2/28/2022 3/31/2022	6/2/2021 Messenger Delive 7/23/2021 Messenger Delive 9/10/2021 Messenger Delive 0/19/2021 Messenger Delive 11/8/2021 Messenger Delive 5/4/2022 Messenger Delive 5/13/2022 Messenger Delive	6/2/2021 Messenger Delivery Fees 7/23/2021 Messenger Delivery Fees 9/10/2021 Messenger Delivery Fees 0/19/2021 Messenger Delivery Fees 11/8/2021 Messenger Delivery Fees 5/4/2022 Messenger Delivery Fees 5/4/2022 Messenger Delivery Fees 8/17/2022 Messenger Delivery Fees 2/28/2021 PACER 1/31/2022 PACER 2/28/2022 PACER 3/31/2022 PACER	6/2/2021 Messenger Delivery Fees SAS 7/23/2021 Messenger Delivery Fees SAS 9/10/2021 Messenger Delivery Fees SAS 0/19/2021 Messenger Delivery Fees SAS 11/8/2021 Messenger Delivery Fees SAS 5/4/2022 Messenger Delivery Fees SAS 5/13/2022 Messenger Delivery Fees LGC 8/17/2022 Messenger Delivery Fees LGC 2/28/2021 PACER 1/31/2022 PACER TPM 1/31/2022 PACER TPM 3/31/2022 PACER TPM 1/31/2022 PACER TPM 1/31/2022 PACER TPM 1/31/2022 PACER TPM	6/2/2021 Messenger Delivery Fees SAS QMS, Invoice No. 0613256, Invoice Date 7/1/2021, Delivery to U.S. District Court for the District of Columbia, Item: Motion for Leave to File an Amended and Supplemented Complaint (WD 178706) 7/23/2021 Messenger Delivery Fees SAS QMS, Invoice No. 0613490, Invoice Date 8/1/2021, Delivery to U.S. District Court for the District of Columbia, 333 Constitution Ave, NW, Washington, DC 20001, Item: ECF 44, Pl Motion for Leave to File a 2nd Amended Complaint & ECF 45, Pl Opposition to Def's Motion to Dismiss (WD 178706) 9/10/2021 Messenger Delivery Fees SAS QMS, Invoice No. 0613965, Invoice Date 10/1/2021, Delivery to DC District Court, 333 Constitution Ave, NW, Washington, DC 20001, Item: Plaintiffs' Opposition To Defendants' Motion To Dismiss In Part Plaintiffs' Courd Amended Complaint (ECF 66) & Pl Motion for Leave to File Under Seal (ECF 67) (WD 178706) 0/19/2021 Messenger Delivery Fees SAS QMS, Invoice No. 0614199, Invoice Date 11/01/2021, Delivery to DC District Court, 333 Constitution Ave, NW, Washington, DC 20001, Item: Plaintiffs' Motion for Comment (ECF 72) (WD 178706) 11/8/2021 Messenger Delivery Fees SAS QMS, Invoice No. 0614429, Invoice Date 12/01/2021, Delivery to DC District Court, 333 Constitution Ave, NW, Washington, DC 20001, Item: Plaintiffs' Reply in Support of Motion on Contempt (ECF 77) (WD 178706) 5/4/2022 Messenger Delivery Fees SAS Messenger to U.S. District Court, for the District of Columbia, 0615857, 06/01/21, Delivery to District Court, Item: Plaintiffs' Opposition to Defendants' Motion for Clarification (ECF 120) (WD 191976) 8/17/2022 Messenger Delivery Fees LGC Messenger to U.S. District Court, Item: Plaintiffs' Motion for Clarification (ECF 120) (WD 191976) 8/17/2022 Messenger Delivery Fees LGC QMS, Invoice No. 0616598, Invoice Date 9/01/2022, Delivery to Corinne Nastro, Federal Bureau of Prisons, 320 First St, NW, Washington, DC 20534, Item: List of students in BOP housing (WD 191976) 8/17/2022 PACER TPM Pacer charges for February 20	6/2/2021 Messenger Delivery Fees SAS QMS, Invoice No. 0613256, Invoice Date 7/1/2021, Delivery to U.S. District Court for the District of Columbia, Item: Motion for Leave to File an Amended and Supplemented Complaint (WD 178706) 7/23/2021 Messenger Delivery Fees SAS QMS, Invoice No. 0613490, Invoice Date 8/1/2021, Delivery to U.S. District Court for the District of Columbia, 333 Constitution Ave, NW, Washington, DC 20001, Item: EGF 44, Pl Motion for Leave to File a 2nd Amended Complaint & ECF 45, Pl Opposition to Def's Motion to Dismiss (WD 178706) 9/10/2021 Messenger Delivery Fees SAS QMS, Invoice No. 0613965, Invoice Date 10/1/2021, Delivery to DC District Court, 333 Constitution Ave, NW, Washington, DC 20001, Item: Plaintiffs' Opposition To Defendants' Motion To Dismiss In Part Plaintiffs' Second Amended Complaint (ECF 66) & Pl Motion for Leave to File Under Seal (ECF 67) (WD 178706) 0/19/2021 Messenger Delivery Fees SAS QMS, Invoice No. 0614199, Invoice Date 11/01/2021, Delivery to DC District Court, 333 Constitution Ave, NW, Washington, DC 20001, Item: Plaintiffs' Motion for Leave to File Under Seal (ECF 67) (WD 178706) 11/8/2021 Messenger Delivery Fees SAS QMS, Invoice No. 0614129, Invoice Date 12/01/2021, Delivery to DC District Court, 1870 (ECF 72) (WD 178706) 11/8/2022 Messenger Delivery Fees SAS Messenger Delivery Eces Associated the Average of the District Court, Item: Plaintiffs' Opposition to Defendants' Motion for Clarification (ECF 120) (WD 191976) 5/4/2022 Messenger Delivery Fees LGC Messenger to U.S. District Court for the District of Columbia, 0615857, 06/01/21, Delivery to District Court, Item: Plaintiffs' Motion for Capital Bureau of Prisons, 320 First St, NW, Washington, DC 20534, Item: List of students in BOP housing (WD 191976) 8/17/2022 Messenger Delivery Fees LGC QMS, Invoice No. 0616598, Invoice Date 9/01/2022, Delivery to Corinne Nastro, Federal Bureau of Prisons, 320 First St, NW, Washington, DC 20534, Item: List of students in BOP housing (WD 191976)	6/2/2021 Messenger Delivery Fees SAS QMS, Invoice No. 0613256, Invoice Date 7/1/2021, Delivery to U.S. District Court for the District of Columbia, Hem: Motion for Leave to File an Amended and Supplemented Complaint (WD 178706) SAS QMS, Invoice No. 0613490, Invoice Date 8/1/2021, Delivery to U.S. District Court for the District of Columbia, 333 Constitution Ave, NW, Washington, DC 20001, Hem: EDE 44, Pl Motion for Leave to File a 2nd Amended Complaint & ECF 45, Pl Opposition to Defs Motion to Dismiss (WD 178706) SAS QMS, Invoice No. 0613490, Invoice Date 10/1/2021, Delivery to U.S. District Court 53, Pl Opposition to Defs Motion to Dismiss (WD 178706) SAS QMS, Invoice No. 0613965, Invoice Date 10/1/2021, Delivery to DC District Opposition To Defendants' Motion To Dismiss In Part Plaintiffs' Opposition To Defendants' Motion To Dismiss In Part Plaintiffs' Opposition To Defendants' Motion To Dismiss In Part Plaintiffs' Opposition To Defendants' Motion To Dismiss In Part Plaintiffs' Notion For Complaint (ECF 66) & Pl Motion for Leave to File Under Seal (ECF 67) (WD 178706) SAS QMS, Invoice No. 0614499, Invoice Date 11/01/2021, Delivery to DC District Court, 333 Constitution Ave, NW, Washington, DC 20001, Hem: Plaintiffs' Motion for Contempt (ECF 72) (WD 178706) SAS QMS, Invoice No. 061449, Invoice Date 12/01/2021, Delivery to DC District Court, 333 Constitution Ave, NW, Washington, DC 20001, Hem: Plaintiffs' Reply in Support of Motion on Contempt (ECF 77) (WD 178706) SAS SAS QMS, Invoice No. 061449, Invoice Date 12/01/2021, Delivery to DC District Court, 334 Court for the District Oclumbia, 0615857, 06/01/21, Delivery to DC District Court for the District Ocumbia, 0615857, 06/01/21, Delivery to DC District Court, Item: Plaintiffs' Opposition to Defendants' Motion for Clarification (ECF 120) (WD 191976) SAS SA

Client: IYP IDEA

Case 1:21-cv-00997-CJN Document 201-8 Filed 10/19/23 Page 21 of 21

No.	Date	Category	Subcategory	Name	Description	Quantity	Price	Expense
409	11/30/2022	PACER		TPM	Pacer charges for November 2022 (WD 196640)	1.00	\$3.20	\$3.20
410	12/29/2021	Postage		DMF	Mail for IYP Student Logs (WD 187151)	43.00	\$1.00	\$43.20
411	7/11/2022	Postage		DMF	7/11/2022 initial notice letters and follow-up notice letters	52.00	\$1.00	\$52.00
412	8/12/2022	Postage		DMF	Stamps for notice letters to new students	14.00	\$1.00	\$14.00
413	10/26/2022	Postage		LGC	Stamps for mailing notices to new class members	9.00	\$1.00	\$9.00
414	6/30/2022	Transcript/Report	ting Fee	SAM	William P. Zaremba Court Reporting, Invoice No. 192408, Invoice Date:6/30/2022, Item: Motion Hearing Proceedings held on June 21, 2022 (WD 192408)	1.00	\$146.00	\$146.00
415	2/8/2022	Travel Expenses		KLM	Trip to Courthouse for Oral Argument, Travelers: KLM (WD 188243)	1.00	\$20.00	\$20.00
416	2/8/2022	Travel Expenses		LLW	Trip returning from courthouse after oral argument, Travelers: LLW, ZSF, LGC, DMF (WD 188251)	1.00	\$18.26	\$18.26
						Total Expenses	::	\$37,580.54